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�N = 6ÚM = 3,
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= 1+q+2q2+3q3+3q4+3q5+3q6+2q7+q8+q9.
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½n3

M,N ´��ê, � M ≤ N. Gauss õ�ª
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Ù¥d = M(N−M), d 6= 0, ´�K�ê� = d−.
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½n3

M,N ´��ê, � M ≤ N. Gauss õ�ª
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= 0 + 1q+ · · ·+ dqd,

Ù¥d = M(N−M), d 6= 0, ´�K�ê� = d−.
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Example
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= 1+ q+ 2q2 + 2q3 + 2q4 + q5 + q6.

0 1 2 2 3

3 4 4 5 6

p≤N−M≤M (n) = p≤N−M≤M (M(N−M)− n) .
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1+q+2q2+3q3+3q4+3q5+3q6+2q7+q8+q9.
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= 1+q+2q2+3q3+3q4+3q5+3q6+2q7+q8+q9.
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= 0(m,n−m)+1(m,n−m)q+· · ·+d(m,n−m)qd,

��,

(m,n−m) = (m− 1, n−m) + −m(m,n−m− 1).

,��¡, �p≤N−M≤M (n) Oê
n�, ��Ü©�u�uN−M,
Ü©êØ�LM �©
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Xª, �p≤N−M≤M (0) = 0(m,n−m) = 1.
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